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BAI 26

26.1.1-b:2—-c:;3-a:4—e.

26.2. A. 26.3. B. 26.4. A. 26.5. B. 26.6. D. 26.7. B.

26.8. Theo dé ra : n;sin60° = n,sind5° = n4sin30°.
Ta phai tim r; nghiém ding phuong trinh :

n, sin60” = nysinry

; By sin30% .
= sinp = —25in60° = : = .sin 60°
3 sin45
ry, = 38"

26.9.CC"'=7cm
= HC - HC' = h(tani — tanr) = 7 cm (Hinh 26.1G).

tani = il  tanr = iF sinr = m = E
T " ocosr " n 5 Y
A
cosr = V1 — sin’r = g s tany = %
Do d6 : ”[
4
h __E =7 cm =k =12 cm.
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26.10. Ta c¢6 (Hinh 26.2G) :
d=1Jcosi ; d = [Jcosr

Suyra:d = msrj d.
COSi

Nhung :

cosr = V1 — sin’r

1 sin®i Jn? — sin%
i
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